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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‘A’ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. What do you mean by business finance ? What is the 

scope of finance function in business enterprises ? 

Should the goal of financial decision-making be profit 

maximization or wealth maximization ? 

O;olk; foŸk ls vkidk D;k vfHkizk; gS \ O;olk; m|eksa esa 

foŸk dk;Z dk D;k {ks= gksrk gS \ foŸkh; fu.kZ; ysus dk y{; 

ykHk vf/kdre djuk ;k /ku vf/kdre djus esa ls D;k gksuk 

pkfg, \ 

2. Distinguish between explicit and implicit cost of 

capital and explain the important methods of 

estimating the cost of capital of a corporate body. 

Li”V ,oa varfuZfgr@vLi”V iw¡th dh ykxr ds chp vUrj 

Li”V dhft, ,oa fuxfer fudk; dh i¡wth dh ykxr ds 

vkadyu dh egŸoiw.kZ fof/k;ksa dh O;k[;k dhft,A 

3. What are the Financial Derivatives ? Discuss the 

different derivatives instruments available in the Indian 

Capital Market. 

foŸkh; O;qRifŸk D;k gS \ Hkkjrh; iw¡th cktkj esa miyC/k 

fofHkUu O;qRifŸk midj.kksa ij ppkZ dhft,A 

4. ‘Between under and overcapitalization, the former is 

the lesser evil of the two, but still both should be 

discouraged.’ Comment. 
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vYi iw¡thdj.k vkSj vfr iw¡thdj.k esa igyk de gkfudkjd 

gS ijUrq fQj Hkh nksuksa dks gh ugha viukuk pkfg,A* fVIi.kh 

dhft,A 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‘B’ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. What is the need of venture capital ? 

tksf[ke iw¡th dh D;k vko’;drk gksrh gSa \ 

2. What are public sector enterprises ? Discuss the 

objectives of public sector enterprises. 

lkoZtfud {ks= ds m|e D;k gS \ lkoZtfud {ks= ds m|eksa 

ds mís’;ksa ij ppkZ dhft,A 

3. How does pay back method of investment appraisal 

incorporate risk in decision making ? 

fofu;ksx ewY;kadu dh iquHkqxZrku jhfr fdl izdkj fu.kZ;u esa 

tksf[ke dk lekos’k djrh gS \ 

4. What are the various forms of corporate restructuring ? 

fuxeh; iquxZBu ds fofHkUu Lo:i D;k gSa \ 
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5. The following information of a company is given : 

Current ratio  2.5 : 1 

Acid Test Ratio 1.5 : 1 

Current Liabilities  ` 50,000 

Find out : 

(a) Current Assets 

(b) Liquid Assets 

(c) Inventory 

fuEufyf[kr ,d dEiuh dh tkudkjh nh x;h gS % 

pkyw vuqikr   2-5 % 1 

vfr&rjy@Rofjr ¼,flM VsLV½ vuqikr 1-5 % 1 

pkyw nkf;Ro   ` 50]000 

Kkr dhft, % 

¼v½ pkyw lEifŸk;k¡ 

¼c½ rjy lEifŸk;k¡ 

¼l½ LdU/k 

6. Discuss the reasons which encourage a company to 

invest abroad. 

,d dEiuh dks fons’k esa fuos’k djus ds fy, izksRlkfgr djus 

okys dkj.kksa ij ppkZ dhft,A 

7. What is the difference between fund flow statement 

and cash flow statement ? 

dks”k izokg ,oa jksdM+ izokg fooj.k esa D;k vUrj gksrk gS \ 

8. Write a note on trading on equity. 

lerk ij O;kikj ij ,d fVIi.kh fyf[k,A 
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Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‘C’ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Indicate whether the following are True or False : 

bafxr dhft, fd fuEufyf[kr lR; gSa ;k vlR; % 

1. Public deposits are used as a source of long-term 

finance.   (True/False) 

lkoZtfud tekvksa dks nh?kZdkfyd foŸk lzksr ds :i esa 

mi;ksx fd;k tkrk gSA   ¼lR;@vlR;½ 

2. Ratio analysis is a technique of planning and control.  

     (True/False) 

vuqikr fo’ys”k.k fu;kstu vkSj fu;U=.k dh ,d rduhd gSA  

    ¼lR;@vlR;½ 

3. ‘Capital’ and ‘Capitalization’ are synonymous terms.  

     (True/False) 

^i¡wth* ,oa ^iw¡thdj.k* lekukFkZd ‘kCn gSaA ¼lR;@vlR;½ 

4. The role of finance manager involves both acquisition 

and efficient allocation of funds. (True/False) 

,d foŸkh; izcU/kd dk dk;Z dks”kksa dh izkfIr rFkk muds 

dq’ky mi;ksx nksuksa ls gSA   ¼lR;@vlR;½ 
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5. CAPM is most preferred model for estimating the cost 

of capital.   (True/False) 

lh- ,- ih- ,e- (CAPM) iw¡th dh ykxr ds vkdyu dk 

vf/kekfur ekWMy gSA   ¼lR;@vlR;½ 

Fill in the blanks : 

fjDr LFkkuksa dh iwfrZ dhft, % 

6. ............ is a statement of financial position of business 

at a specified moment of time. 
------------------------

 O;olk; dh foŸkh; fLFkfr dk ,d fuf’pr le;& 

lhek ij fooj.k gSA 

7. The value stated on the face of the bond is termed as 

it’s ............. . 

_.k&i=@ckaM ij vafdr fd;s x, ewY; dks mldk 
----------------------

 

dgk tkrk gSA 

8. Cost of capital comprises premium for both business 

and ............ risk.   

iw¡th dh ykxr esa O;kikj rFkk 
------------------------

 tksf[ke ds fy, 

vf/kewY; varfuZfgr gksrk gSA 

9. Risk and ............. have a positive correlation. 

tksf[ke vkSj 
------------------------

 esa ldkjkRed lg&lEcU/k gksrk gSA 

10. ............. is the reward of the shareholders for making 

investments in the shares of the company. 
------------------------

 dEiuh ds va’kksa esa fuos’k djus ds fy, va’k/kkjdksa 

dk ikfjrksf”kd gSA 
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